Some remarks on grand Furuta inequality

前橋工科大学 亀井栄三郎 (Eizaburo Kamei)
Maebashi Institute of Technology

1. Introduction. Throughout this note, A and B are positive operators on a Hilbert space. For convenience, we denote $A \ge 0$ (resp. A > 0) if A is a positive (resp. invertible) operator. We begin from Furuta inequality ([6],[7],[9]).

Furuta inequality: If $A \ge B \ge 0$, then for each $r \ge 0$,

(F)
$$A^{\frac{p+r}{q}} \ge (A^{\frac{r}{2}}B^pA^{\frac{r}{2}})^{\frac{1}{q}}$$
 and $(B^{\frac{r}{2}}A^pB^{\frac{r}{2}})^{\frac{1}{q}} \ge B^{\frac{p+r}{q}}$

holds for p and q such that $p \ge 0$ and $q \ge 1$ with $(1+r)q \ge p+r$.

This yields the Löwner-Heinz inequality;

(LH)
$$A \ge B \ge 0$$
 implies $A^{\alpha} \ge B^{\alpha}$ for any $\alpha \in [0, 1]$.

We had reformed (F) in terms of the α -power mean (or generalized geometric operator mean) of A and B which is introduced by Kubo-Ando as follows [16]:

$$A \sharp_{\alpha} B = A^{\frac{1}{2}} (A^{-\frac{1}{2}} B A^{-\frac{1}{2}})^{\alpha} A^{\frac{1}{2}}$$
 for $\alpha \in [0, 1]$,

the case $\alpha \notin [0, 1]$, we use the notation \natural to distinguish the operator mean.

By using the α -power mean, Furuta inequality is given as follows:

(F)
$$A \ge B \ge 0$$
 implies $A^{-r} \sharp_{\frac{1+r}{n+r}} B^p \le A$ for $p \ge 1$ and $r \ge 0$.

Based on this reformulation, we had proposed a satellite form of (F) [12],[13];

(SF)
$$A \ge B \ge 0$$
 implies $A^{-r} \sharp_{\frac{1+r}{r}} B^p \le B \le A$ for $p \ge 1$ and $r \ge 0$.

On the other hand, Ando and Hiai showed the next inequality [1],[11].

Ando-Hiai inequality: Ando-Hiai had shown the following inequality:

(AH) If
$$A \sharp_{\alpha} B \leq I$$
 for $A, B > 0$, then $A^r \sharp_{\alpha} B^r \leq 1$ holds for $r \geq 1$.

From this relation, they had shown the following inequality (AH₀). It is equivalent to the main result of log majorization and can be given as the following form:

$$(AH_0) \quad A^{-1} \sharp_{\frac{1}{p}} A^{-\frac{1}{2}} B^p A^{-\frac{1}{2}} \leq I \quad \Rightarrow \quad A^{-r} \sharp_{\frac{1}{p}} (A^{-\frac{1}{2}} B^p A^{-\frac{1}{2}})^r \leq I, \quad p \geq 1, \quad r \geq 1.$$

Furuta had constructed the following inequality which interpolats (AH_0) and (F), we call this grand Furuta inequality ([2],[4],[8],[9]).

Grand Furuta inequality: If $A \ge B \ge 0$ and A > 0, then for each $1 \le p$ and $t \in [0, 1]$,

(GF)
$$A^{-r} \sharp_{\frac{1-t+r}{(p-t)s+r}} (A^{-\frac{t}{2}}B^{p}A^{-\frac{t}{2}})^{s} \le A^{1-t}$$

holds for $t \leq r$ and $1 \leq s$.

The satellite form of (GF) is given also as follows ([2],[14]):

(SGF)
$$A^{-r+t} \sharp_{\frac{1-t+r}{(p-t)s+r}} (A^t \natural_s B^p) \le B (\le A).$$

We pointed out that (F) and (AH) are obtained from each other and gave a generarized form of (AH) ([3],[5]).

For $\alpha \in (0, 1)$ fixed,

(GAH)
$$A \sharp_{\alpha} B \leq I \implies A^r \sharp_{\frac{\alpha r}{(1-\alpha)s+\alpha r}} B^s \leq I \text{ for } r, s \geq 1.$$

Using (GAF), we modified (GF) as follows [15]:

Theorem A. If $A \ge B \ge 0$ and A > 0, then for each $1 \le p$ and $t \in [0, 1]$,

$$A^{-r+t} \sharp_{\frac{1-t+r}{(p-t)s+r}} (A^t \natural_s B^p) \le A^t \sharp_{\frac{1-t}{p-t}} B^p$$

holds for $t \leq r$ and $1 \leq s$.

Recently, Furuta has shown the following theorem concerning to the above theorem [10].

Theorem F. Let $A \ge B \ge 0$ with A > 0, $t \in [0, 1]$ and $p \ge 1$. Then

$$F(\lambda, \mu) = A^{-\frac{\lambda}{2}} \{ A^{\frac{\lambda}{2}} (A^{-\frac{t}{2}} B^p A^{-\frac{t}{2}})^{\mu} A^{\frac{\lambda}{2}} \}^{\frac{1-t+\lambda}{(p-t)\mu+\lambda}} A^{-\frac{\lambda}{2}}$$

satisfies the following properties:

(i)
$$F(r, w) \ge F(r, 1) \ge F(r, s) \ge F(r, s')$$

holds for any $s' \ge s \ge 1$, $r \ge t$ and $1 - t \le (p - t)w \le p - t$.

(ii)
$$F(q, s) \ge F(t, s) \ge F(r, s) \ge F(r', s)$$

holds for any $r' \ge r \ge t$, $s \ge 1$ and $t - 1 \le q \le t$.

In this note, we observe this theorem from the α -power mean.

2. Review of Theorem F. We rewrite Theorem F by the form of α -power mean. Then

$$F(\lambda, \mu) = A^{-\lambda} \sharp_{\frac{1-t+\lambda}{(p-t)\mu+\lambda}} (A^{-\frac{t}{2}}B^pA^{-\frac{t}{2}})^{\mu}$$

and by putting $B_1 = (A^{-\frac{t}{2}}B^pA^{-\frac{t}{2}})^{\frac{1}{p-t}}$, (i) and (ii) of Theorem F are written as follows:

(i)
$$A^{-r} \sharp_{\frac{1-t+r}{(p-t)w+r}} B_1^{(p-t)w} \ge A^{-r} \sharp_{\frac{1-t+r}{p-t+r}} B_1^{p-t}$$
$$\ge A^{-r} \sharp_{\frac{1-t+r}{(p-t)s+r}} B_1^{(p-t)s} \ge A^{-r} \sharp_{\frac{1-t+r}{(p-t)s'+r}} B_1^{(p-t)s'}$$

and

(ii)
$$A^{-q} \sharp_{\frac{1-t+q}{(p-t)s+q}} B_1^{(p-t)s} \ge A^{-t} \sharp_{\frac{1}{(p-t)s+t}} B_1^{(p-t)s}$$

$$\ge A^{-r} \sharp_{\frac{1-t+r}{(p-t)s+r}} B_1^{(p-t)s} \ge A^{-r'} \sharp_{\frac{1-t+r'}{(p-t)s+r'}} B_1^{(p-t)s}.$$

We point out that Theorem A can be written more precisely,

$$A^{-r+t} \sharp_{\frac{1-t+r}{(p-t)s+r}} (A^t \natural_s B^p) \le (A^t \natural_s B^p)^{\frac{1}{(p-t)s+t}} \le B \le A^t \sharp_{\frac{1-t}{p-t}} B^p.$$

Because $A^{-r+t} \sharp_{\frac{1-t+r}{(p-t)s+r}} (A^t \natural_s B^p) \leq (A^t \natural_s B^p)^{\frac{1}{(p-t)s+t}} \leq B$ is already shown in our proof of (SGF). So the result of Theorem A has shown the folloing inequality.

$$A^{-r} \sharp_{\frac{1-t+r}{(p-t)s+r}} B_1^{(p-t)s} \le A^{-t} \sharp_{\frac{1}{(p-t)s+t}} B_1^{(p-t)s} \le B_1^{1-t},$$

and Furuta improved on the second inequality of this form to

$$A^{-t} \sharp_{\frac{1}{(p-t)s+t}} B_1^{(p-t)s} \leq A^{-q} \sharp_{\frac{1-t+q}{(p-t)s+q}} B_1^{(p-t)s}, \quad t-1 \leq q \leq t.$$

Furuta's process is the following:

Since $0 \le t - q \le 1$, $(A^{\frac{t}{2}}B_1^{(p-t)s}A^{\frac{t}{2}})^{\frac{t-q}{(p-t)s+t}} \le A^{t-q}$ holds by (LH), and we can obtain the result as follows:

$$A^{-t} \sharp_{\frac{1}{(p-t)s+t}} B_1^{(p-t)s}$$

$$= B_1^{(p-t)s} \sharp_{\frac{(p-t)s-1+t}{(p-t)s+t}} A^{-t}$$

$$= B_1^{(p-t)s} \sharp_{\frac{(p-t)s-1+t}{(p-t)s+q}} (B_1^{(p-t)s} \sharp_{\frac{(p-t)s+q}{(p-t)s+t}} A^{-t})$$

$$= B_1^{(p-t)s} \sharp_{\frac{(p-t)s-1+t}{(p-t)s+q}} (A^{-t} \sharp_{\frac{t-q}{(p-t)s+t}} B_1^{(p-t)s})$$

$$= B_1^{(p-t)s} \sharp_{\frac{(p-t)s-1+t}{(p-t)s+q}} A^{-\frac{t}{2}} (A^{\frac{t}{2}} B_1^{(p-t)s} A^{\frac{t}{2}})^{\frac{t-q}{(p-t)s+t}} A^{-\frac{t}{2}}$$

$$\leq B_1^{(p-t)s} \sharp_{\frac{(p-t)s-1+t}{(p-t)s+q}} A^{-\frac{t}{2}} A^{t-q} A^{-\frac{t}{2}}$$

$$= A^{-q} \sharp_{\frac{1-t+q}{(p-t)s+q}} B_1^{(p-t)s}.$$

3. Modification of Theorem F. Furuta's results (i) and (ii) are holds suppose $A \geq B_1$, but in Theorem F this order does not hold. We search a suitable relation between A and B_1 by the help of (GAH).

 $A \geq B \geq 0$ implies $A^t \geq B^t \geq 0$ for $t \in [0, 1]$ by (LH). This is equivalent to $A^{-t} \sharp_{\frac{t}{p}} B_1^{p-t} \leq I$. By (GAH), we have

$$A^{-r} \sharp_{\frac{r}{p-t+r}} B_1^{(p-t)} = B_1^{(p-t)} \sharp_{\frac{p-t}{p-t+r}} A^{-r} \le I.$$

That is,

$$A \geq B \geq 0 \ \Rightarrow \ A^{-r} \sharp_{\frac{r}{p-t+r}} B_1^{(p-t)} \leq I \ \Rightarrow \ A^{-r'} \sharp_{\frac{r'}{(p-t)s+r'}} B_1^{(p-t)s} \leq I \ \text{for} \ r' \geq r, \ s \geq 1.$$

So we begin from the assumption $A^{-r} \sharp_{\frac{r}{p-t+r}} B_1^{(p-t)} \leq I$.

Lemma 1. Let A, $B \ge 0$ and $A^{-r} \sharp_{\frac{r}{p+r}} B^p \le I$ for $p, r \ge 0$. Then the following hold:

(i)
$$A^{-r} \sharp_{\frac{\delta+r}{2+r}} B^{p} \leq B^{\delta} \quad 0 \leq \delta \leq p$$

and

(ii)
$$A^{-r} \sharp_{\frac{\lambda+r}{n+r}} B^{p} \leq A^{\lambda} - r \leq \lambda \leq 0.$$

These results are already known, but these play essential roles in our following discussions. We can arrange Theorem F as follows except $F(q, s) \ge F(t, s)$ for $t-1 \le q \le 0$.

Theorem 1. Let $A, B \ge and A^{-r} \sharp_{\frac{r}{p+r}} B^p \le I \text{ for } p, r \ge 0.$ Then

$$A^{-r} \sharp_{\underline{\delta+r}} B^p \le A^{-r} \sharp_{\underline{\delta+r}} B^{\mu}.$$

holds for $p \ge \mu \ge \delta \ge 0$ and

(ii)
$$A^{-r} \sharp_{\frac{\lambda+r}{n-r}} B^{p} \leq A^{-t} \sharp_{\frac{\lambda+t}{n-r}} B^{p}$$

holds for $r \ge t \ge 0$, $-t \le \lambda \le p$.

Proof. (i) is obtained by the followin calculation:

$$A^{-r} \sharp_{\frac{\delta+r}{2+r}} B^p = A^{-r} \sharp_{\frac{\delta+r}{2+r}} (A^{-r} \sharp_{\frac{\mu+r}{2+r}} B^p) \le A^{-r} \sharp_{\frac{\delta+r}{2+r}} B^\mu.$$

(ii) can be shown as follows:

$$A^{-r} \sharp_{\frac{\lambda+r}{p+r}} B^{p} = B^{p} \sharp_{\frac{p-\lambda}{p+r}} A^{-r} = B^{p} \sharp_{\frac{p-\lambda}{p+t}} (B^{p} \sharp_{\frac{p+t}{p+r}} A^{-r})$$

$$= B^{p} \sharp_{\frac{p-\lambda}{p+t}} (A^{-r} \sharp_{\frac{-t+r}{p+r}} B^{p}) \le B^{p} \sharp_{\frac{p-\lambda}{p+t}} A^{-t} = A^{-t} \sharp_{\frac{\lambda+t}{p+t}} B^{p}.$$

4. Applications. Return to Theorem A, we summarize the above discussions.

Theorem A(1). If $A \ge B \ge 0$ and $t \in [0, 1]$, $p \ge t$, $r \ge t$, $0 \le \delta \le (p - t)s$, then

$$A^{-r+t} \sharp_{\frac{\delta+r}{(p-t)s+r}} (A^t \natural_s B^p) \leq (A^t \natural_s B^p)^{\frac{\delta+t}{(p-t)s+t}} \leq A^{\alpha} \sharp_{\frac{\delta+t-\alpha}{(p-t)s+t-\alpha}} (A^t \natural_s B^p)$$

$$holds for \min\{\delta+t, 1\} \geq \alpha \geq 0.$$

This is equivalent to

$$A^{-r} \sharp_{\frac{\delta+r}{(p-t)s+r}} B_1^{(p-t)s} \leq A^{-t} \sharp_{\frac{\delta+t}{(p-t)s+t}} B_1^{(p-t)s} \leq A^{\alpha-t} \sharp_{\frac{\delta+t-\alpha}{(p-t)s+t-\alpha}} B_1^{(p-t)s}.$$

If $p \ge 1$ and $\delta = 1 - t$, $\alpha = t - q$, we have Furta's result (ii) containing the case $t - 1 \le q \le 0$.

Under the assumption $A^{-r} \sharp_{\frac{r}{p-t+r}} B_1^{(p-t)} \leq I$, our Theorem A can be written as follows:

Theorem A(2). Let $A, B \ge 0$ and put $B_1 = (A^{-\frac{t}{2}}B^pA^{-\frac{t}{2}})^{\frac{1}{p-t}}$ for $p \ge t \ge 0$. If $A^{-r} \sharp_{\frac{r}{p-t+r}} B_1^{(p-t)} \le I$ for $r \ge t \ge 0$, then for $s \ge 1$

(i)
$$A^{-r+t} \sharp_{\frac{\delta+r}{(p-t)s+r}} (A^t \natural_s B^p) \le A^{-r+t} \sharp_{\frac{\delta+r}{\mu+r}} (A^t \natural_{\frac{\mu}{p-t}} B^p)$$

holds for $0 \le \delta \le \mu \le (p-t)s$ and

(ii)
$$A^{-r+t} \sharp_{\frac{\lambda+r}{(p-t)s+r}} (A^t \natural_s B^p) \le (A^t \natural_s B^p)^{\frac{\lambda+t}{(p-t)s+t}}$$

holds for $-t \le \lambda \le (p-t)s$.

But this case reduces to Theorem 1 because

(i)
$$\iff A^{-r} \sharp_{\frac{\delta+r}{(p-t)s+r}} B_1^{(p-t)s} \le A^{-r} \sharp_{\frac{\delta+r}{\mu+r}} B_1^{\mu}$$

and

(ii)
$$\iff A^{-r} \sharp_{\frac{\lambda+r}{(p-t)s+r}} B_1^{(p-t)s} \leq A^{-t} \sharp_{\frac{\lambda+t}{(p-t)s+t}} B_1^{(p-t)s}.$$

References

- [1] T.Ando and F.Hiai, Log majorization and complementary Golden-Thompson type inequality, Linear Alg. and Its Appl., 197(1994), 113-131.
- [2] M.Fujii and E.Kamei, Mean theoretic approach to the grand Furuta inequality, Proc. Amer. Math. Soc., 124(1996), 2751-2756.
- [3] M.Fujii and E.Kamei, Ando-Hiai inequality and Furuta inequality, Linear Algebra Appl.,416(2006), 541-545.
- [4] M.Fujii, T.Furuta and E.Kamei, Furuta's inequality and its application to Ando's theorem, Linear Algebra Appl., 179(1993), 161-169.
- [5] M.Fujii, E.Kamei and R.Nakamoto, An analysis on the internal structure of the celebrated Furuta inequality, Sci. Math. Japon., 62(2005),421-427.
- [6] T.Furuta, $A \ge B \ge 0$ assures $(B^r A^p B^r)^{1/q} \ge B^{(p+2r)/q}$ for $r \ge 0, p \ge 0, q \ge 1$ with $(1+2r)q \ge p+2r$, Proc. Amer. Math. Soc., 101(1987), 85-88.
- [7] T.Furuta, Elementary proof of an order preserving inequality, Proc. Japan Acad., 65(1989), 126.
- [8] T.Furuta, Extension of the Furuta inequality and Ando-Hiai log-majorization, Linear Alg. and Its Appl., 219(1995), 139-155.
- [9] T.Furuta, Invitatin to Linear Operators, Taylor & Francis, London and New York, (2001).
- [10] T.Furuta, Monotonicity of order preserving operator functions, preprint.
- [11] F.Hiai, Log-majorizations and norm inequalities for exponential operators, Linear Operators Banach Center Publications, vol.38, 1997.
- [12] E.Kamei, A satellite to Furuta's inequality, Math. Japon., 33(1988), 883-886.
- [13] E.Kamei, Parametrization of the Furuta inequality, Math. Japon., 49(1999), 65-71.
- [14] E.Kamei, Parametrzed grand Furuta inequality, Math. Japon., 50(1999), 79-83.
- [15] E.Kamei, Extension of Furuta inequality via generalized Ando-Hiai theorem (Japanese), Surikaisekikenkyūsho Kōkyūroku, Research Institute for Mathematical Sciences, 1535(2007), 109-111.
- [16] F.Kubo and T.Ando, Means of positive linear operators, Math. Ann., 246(1980), 205-224.

Maebashi Institute of Technology, Kamisadori, Maebashi, Gunma, 371-0816, Japan e-mail: kamei@maebashi-it.ac.jp